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07/08/2008 No Shift from Original Data
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Original R? Final R? Applied
Date Value Value Shift Additional Info
04/01/2008 0.67 0.77 None 4 QOutliers Removed
04/04/2008 0.70 0.70 None
04/05/2008 0.60 0.69 None 1 Outlier Removed
04/08/2008 0.50 0.57 None 4 Outliers Removed
04/09/2008 0.71 0.71 None
04/12/2008 0.64 0.67 None 3 Outliers Removed
04/16/2008 0.58 0.64 None 2 Outliers Removed
04/17/2008 0.79 0.79 None
04/19/2008 0.73 0.87 None 2 Outliers Removed




Original R2 Final R2 Applied
Date Value Value Shift Additional Info
06/18/2008 0.67 0.76 None 2 Outliers Removed
06/22/2008 0.64 0.64 None
06/24/208 0.38 0.63 None 4 outliers Removed
06/29/208 0.54 0.70 None 4 outliers Removed
07/01/2008 0.13 0.43 None 6 Outliers Removed
07/04/2008 0.19 0.35 None 4 outliers Removed
07/05/2008 0.13 0.71 None 4 outliers Removed
07/08/2008 0.40 0.44 None 2 Outliers Removed
07/09/2008 0.60 0.60 None
07/10/2008 0.26 0.26 None
07/13/2008 0.62 0.91 None 3 Outliers Removed




